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6 |E 5 i 176 | KA2HH 7,357 | RAHTH 227,384 ifE JIl BT 3,454 | & i 92,460 M & BT 1,282 | 6
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26 |#E wk Wy 68 |HLLEWFTH 2,051 [ KEpyLTT 39,222 ifE [ i 2,135 |FH U BT 16,170 PiKSERFTT 832 | 26
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33 |k K HT 52 |i% X HT 1,303 /A (L BT 24,217 i {7 T 1,965 |k & HT 9,455 ifH i HT 760 | 33
34 | M 47 |k & BT 1,302 [k & Wm7 23,811 ifix & H 1,942 |/A 1 HT 8,934 ik A HT 743 | 34
35 | = ¥ HT 46 | KJJPENT 1,296 [#& M B7 23,593 i JI BT 1,929 |E 2 HT 8,852 i# Fff i 734 | 35
36 [KJJPERT 46 | B f 1,295 | (L BT 23,293 iHME M BT 1,893 |# T AT 8,628 iZH R WT 723 | 36
37 |& B 45 /N BF 1,192 |7 3P BT 22,913 iy JIl BT 1,890 [f#& Z& HT 8,098 ifife - HT 723 | 37
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40 |87 JR 43 |& & T 1,067 |= & B 20,301 o1 = BT 1,819 [MWZEHET 7,855 i HH 3 SHLHT 712 | 40
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43 |= W M7 39 |[#& 5 oHT 977 |MFEFMT 19,793 & ZE BT 1,730 [FE N WT 7,401 i % ThH 690 | 43
44 | KT 36 | K A HT 952 |22 & ™ 19,599 K & BT 1,729 |52 & T 7,349 M I T 690 | 44
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70 |5 P& HT 20 | HOET 455 |50 BE T 6,702 i)\ & | 1,360 |7 {E AT 2,853 i)\ #& i 579 | 70
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